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LA & 2,600 2,600 0
1.aAed 52 9 Ag7ts} 2,600 2,600 0
1. w2 9A4 2,600 2,600 0
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1. g Hk=8H 2,600 0 2,600 | 2 F-A5=H] 1 100,000 %267 +13]= 2,600,000
2. W EA /& AR} 84 157,770 135,712 22,058
1.94 e 42,985 39,465 3,520
L3t g4 39 42,985 39,465 3,520
1.z8 907 2,600 0 2,600

L7 Al kA Q1 v 2,600 0 2,600| 22t 5-2F 1 10,0009 #57 #524] 7= 2,600,000
2.3 A ST 20,274 0| 20,274

L8245 20,274 0| 20,274 A FE0) (A YD) 1 20,274,000 1 3= 20,274,000
3.9 2] 16,211 0 16,211

1.5-frols 16,211 0 16,211 T2 &9-Fh 5 1 43092608 1459 = 16,211,000
4. 572G 3,900 0 3,900
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FAAASAH] 1 200,000 #53]= 1,000,000
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2. 980 1,000 0 1,000|7F2=R] : 1,000,0009)#13]= 1,000,000
2. 238 28,244 16,993 11,251
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2WAAN2,33d) 1 1,2009#240 = 288,000
2.8714¢9 4,610 0 4,610
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3. HFETGH 200 0 200| A4 W 9] ¢ 100,000 #23]= 200,000
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1. dRkp8n) 9,416 0 9,416 | 571 A E4=1]  510,00099+129= 6,120,000
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5. A K E Y 5,265 0 5,265
1. 590 5,265 0 5,265 A S5 H] 1 39,0009 1351 = 5,265,000
6. 1A wA A4 1,100 0 1,100
1. g Hk=8H 1,100 0 1,100 e@] ™) o] 85 : 110,0009¢%10€= 1,100,000
37184 usdE 123,693 99,424 24,269
gy 42,470 40,910 1,560
1.2 4 13,600 16,000  -2,400
1.3 2% 13,600 0 13,600
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AAHE 10,0009 27«30 = 600,000
ii:&%ziﬂé <4¥] : 10,000,000 10,000,000
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1. 0789 300 0 300
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2.5 o) 3 200 0 200
1.5 200 0 200| =St 3] AlE 100,000 #23]= 200,000
3. 98w 8,000 6,850 1,150
1. 074 8,000 0 8,000
1. a9 8,000 0 8,000 73t AHAE 1 150,000 #1438 F= 2,100,000
2} 2% 7]- 0 100,000 %20= 2,000,000
e AE S 10,00099#2078 200,000
8k ZEAZH 0 50,0009 #43] 200,000
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4 A S m % 3,960 3,600 360
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3. dEHA LRI 7,200 0 7,200
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jé*&zﬂ YA P-g-n] 1 1,500,00090#13] 1,500,000
AR ETY 10,0009 %1507 = 1,500,000
Al A EFTY 1 50,0009 #60F= 3,000,000
6.9 Fo| W BE 600 600 0
1. 073 600 0 600
1. %89 600 0 600 | A1HE T19] & 10,0009 %309 = 300,000
golat s5EF ¢ 50,0009 #63]= 300,000
7. 5SSy 5,250 3,600 1,650
1. 07 5,250 0 5,250
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zii%%eaziz%‘ Zho] 1 30,0009 %5 1,200,000
2.8994 AeLEF 60,223 51,514 8,709
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3.548%F 7,800 5,300 2,500
L.5AEE2Y 7,800 5,300 2,500
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2.35494d &% 21,068 21,348 -280
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